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Algebra 2B/Trig. Unit 5. Rational Functions
Lesson 2. Transformations of Parent Rational Function

e What is a rational function?
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e Can the dengminator of rational expression equal to 0 ? Why/Why not?
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e What is the value X, the total number of the campers, that cannot be
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e Canthe aumerator of a rational expression equal to 0? Why/Why not?

h 2.X [0 )= ©

—>0
Lesson: =
When using a function to model a real life situation like the fee per camper, you

only use those values that make sense in the context of the situation. Now, we
will look at the rational function in a theoretical view.



1. Fill out the chart and sketch the graph of the given rational function equations.
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2. Fill out the chart and sketch the graph/pf;tljg‘gi\@ rational function equations.
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3. Fill out the chart and sketch the graph of the given rational function equations.
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A. Fill out the chart and sketch the graph of the given rational function equations.
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5. Fill out the chart and sketch the graph of the given rational function equations.
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Homework 5-2

Lesson 2 Transformation of Rational Functions T

1) f(x)
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a) Asymptotes:
Vertical: X= () Horizontal: Y = O
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Describe the Transformation from the
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12) Describe the graph of s(x) = ;1;

11) Write a function that is f(x) = ;17

translated 3 units down and 5 units to

the right.
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Warm up for the next lesson — Factoring
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written as a rational function (0.5pt),
Fill out the data on a T-Chart (0.5pt),

7 Extra Credit Homework Point: Write a real life situation/scenario that can be

Write the rational function equation (0.5pt),

Graph the function equation (0.5pt).



